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I a. Define algorithm. What are

b. Explain asymptotic notati
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2 a. Explain general pun $hdt#tuematical ,ffii, o$t#""*sive algorithm with example.
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b. Define time affi complexity. Exnlaffiortant problem t1pes. (08 Marks)
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a. flxplam;ffiivreSand conquer techruqpe. sWrfie bmaxy search algonthm. (08 Marks)
b. Applffiffi sort to sort the Ii@UESTION' in algffitical order. Draw the tree of

(08 Marks)

Explain F""dy.\
W.Ur.:ilp

Sortffig\iven I
,ld

criterion.

ist of nun

result for the follow
Character AY B C D

Probabilitv '"0.35
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shortest path.
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8 a. Solve the following instance

capacity of knapsack is W = 5.
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of knapsack proble
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programming. The
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b. Explain back trackirgdry#&t and how back tgii*king is used for solving 4-Queen's

problenr" Show the stffice table. 
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10 a. Explain LC brffi#f;d bound and FIFO kqt$h and bound. (08 Marks)

b. Obtain the eptkr&flI solution fo1 the gi$ffiXssignment problem as a matrix shown below

M

Explain multistage graphs with

using bound method. d,u (08 Marks)
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